Most cellular energy originates in the oxidation, or break-up of glucose.

This process is divided into two steps:

a. glycolysis- glucose-------->.pyruvic acid (anaerobic- no O2 needed, takes place in cytoplasm)

b. pyruvic acid---------> H2O + CO2 (aerobic, needs O2, takes place in the mitochondria)

SUMMARY:

1. Waste products of cellular respiration are CO2 and H2O.

2. These waste products are used in photosynthesis.

3. In cellular respiration, food molecules are broken down to release stored energy.

4. The energy is released in a series of steps.

5. Some energy released in respiration:

                A. is lost as heat (maintaining body temperature

                B. is used to produce high energy molecules

6. In many ways photosynthesis is the opposite of respiration.

7. The end products of respiration are the starting materials of photosynthesis. 

8. The bottom line is……….producers (autotrophs) capture the sun’s energy and store it in the form of food.  Consumers (heterotrophs) eat producers.  Cells use the glucose made by the producers for energy.

